HSC 2002 - Modern Hebrew Continuers
High Band 6

Section II — Reading and Responding .

Part A — 20 marks EN Q K_,Tg‘H‘

Attempt Questions 7-8

Read the texts on pages 9-10 of the question paper, then answer the corresponding questions
in ENGLISH in the spaces provided.

Marks
Question 7 (8 marks)

(a) To what does ‘7R 27TRD R5W “WDOR TR’ refer? 1
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(c) How does the mother use language to persuade the doctor to assist her? 4

A RSN T SR DR AL SRS NSRS e
“b"\@“*%b ............. L ANS L QESGSSOS Yo

N - N ( Vesag P N NI A e e A T
SyeeN Yo e Yo o oa\\e<c Q\‘g%& NN R N
AN S . S W Yo AT S . Shae —\‘—\'\CL_ﬂ -\"‘\\\\___ l..\,c\
A (AT g - el N Ao e ds e
b‘-*-(c:»\:\s\\@_,__ Q’“\\Q‘f‘c’g\ =3 e R N St '@‘&\Q&
oS e co— s p. Sl Yrse SN Aok

S N VE N N apty  esrsan ok Ny
= > A e - 2%“\‘\'&\"(\\ r\c& \Q\'\\\\\\ (= F\M}
e 4 \Q ol e c\\m\h%\c\ o'y oLl



HSC 2002 - Modern Hebrew Continuers

NGy

Marks
Question 8 (12 marks)

(a) Why is it worth visiting Ein Yahav? 1

(A) Yoetcanbuycheese there. B
(B) YeucanTideon the camets. []
M

(D) You can taste the milk.

(b) What do we know about the biography of Professor Yagil? 4
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Question 8 continues on page 4
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Marks
Question 8 (continued)

(d) Why is Professor Yagil the right person for the writer of the letter in Question 7 3
to turn to?

.9.?.9{%:99‘.7 |&<5\‘Qe\@wcas\q\\&w%_<\\:~,\m\)weé\

G..... %ﬁub\tcwxnrq\\ar@%*m%mw

~

Prosioann. e oS IR T G SWe, o '.S'Q:.\\\\*—'\Q\ QON\Q\
A= ‘so dmtxc\\g.f(% orowv\en— ‘'S Mo - o \\()
End of Question 8
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